NEw ENGLAND
CoMMON ASSESSMENT PROGRAM

Student Work Samples
2013

Grade 4



Mathematics

12



@ A toy store sold 546 cars and 285 trucks. How many more cars than trucks did the
toy store sell?

The oy srore sold 61 Mare
caxs Hhan Fracks.
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@ A toy store sold 546 cars and 285 trucks. How many more cars than trucks did the

toy store sell?

The Jfoy aXore sad 261 moe cars than
truche T koow Yhe because HH6-
2852 )6) To chech ™ anwses’ T added
285 and 26\ up \og&\'\f\ef and 90\,5“\6.
This is how I Unow the +he Yoy store
Sold 261 more cars than Yrudes.
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@ A toy store sold 546 cars and 285 trucks. How many more cars than trucks did the
toy store sell?
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@ A toy store sold 546 cars and 285 trucks. How many more cars than trucks did the
toy store sell?
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@ Look at this number sentence. Each square has the same value.

12 —

What is the value of each square?

the ol 8@
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@ Look at this number sentence. Each square has the same value.

What is the value of each square?

O of |2
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@ Kyle measured the lengths of eight paw prints he saw on a hike. He made this list
to show the length, in inches, of each paw print he measured.

1.
1§|nches

2 inches

1.
3§|nches

2 inches

inch

N =

inch

NN NI=

inches

1.
22|nches

Use the data from Kyle’s list to complete this line plot.

Paw Prints
X
¥ X
[ * 2 K‘ $ *- g1 f 1
R
0 2 1 15 2 25 3 35 4

Length in Inches

Key

X represents 1 paw print
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@ Kyle measured the lengths of eight paw prints he saw on a hike. He made this list
to show the length, in inches, of each paw print he measured.

1.
1§|nches
2 inches
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Use the data from Kyle’s list to complete this line plot.

Paw Prints
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@ Kyle measured the lengths of eight paw prints he saw on a hike. He made this list
to show the length, in inches, of each paw print he measured.

1.
1§|nches

2 inches

1.
3§|nches

2 inches

inch

N =

inch

NN NI=

inches

1.
22|nches

Use the data from Kyle’s list to complete this line plot.

Paw Prints

2912010

' I 1 1
0 1 15- 2 25- 3 35- 4

1
2
Length in Inches

Key

X represents 1 paw print
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@ Blair and Carmen each made a pie. Each of these pies is cut into equal pieces.

&

Blair's Carmen’s
pie pie

Blair ate 2 pieces of her pie.

a. Write a fraction to show the part of the pie Blair ate.

y/

/

)

Carmen ate 2 pieces of her pie. Blair said, “Carmen and I ate the same amount
of pie.”

b. Explain why Blair’s statement is or is not correct.

,B);a'/ S Smﬁl)]_g# S ﬂcﬂL conect
lpetause _the pies ore bath Cuf info
" eighths but Bliars pie P srﬂaﬂi

——3’07 Jhat memng her pieces Oré smaller;
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@ Blair and Carmen each made a pie. Each of these pies is cut into equal pieces.

Blair's Carmen’s
pie pie

Blair ate 2 pieces of her pie.

a. Write a fraction to show the part of the pie Blair ate.

L

Carmen ate 2 pieces of her pie. Blair said, “Carmen and I ate the same amount
of pie.”

b. Explain why Blair’s statement is or is not correct.

B'O\ip \S n07L coﬁeckgﬂ Pie

% 5ma\\er 50 B)aif‘ Aat/ Jess
p1e.
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@ Blair and Carmen each made a pie. Each of these pies is cut into equal pieces.

Blair's Carmen’s
pie pie

Blair ate 2 pieces of her pie.

a. Write a fraction to show the part of the pie Blair ate.

Bla'v ode X owk of % peaces of her P\Q.

Carmen ate 2 pieces of her pie. Blair said, “Carmen and I ate the same amount
of pie.”

b. Explam why Blair’s statement is or is not correct.

I} (3 VD* )f\fue- LCCQ\»\SQ, (a1 wieéms' F;(_ \g

)).33,3 2
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@ Blair and Carmen each made a pie. Each of these pies is cut into equal pieces.

Carmen's
pie

Blair ate 2 pieces of her pie.
a. Write a fraction to show the part of the pie Blair ate.

L

———

B

Carmen ate 2 pieces of her pie. Blair said, “Carmen and I ate the same amount
of pie.”

DNGC'S Ohov oy v Coveecd
oecave Vg «g{b e W

Q‘oouo\\ RS
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@ Blair and Carmen each made a pie. Each of these pies is cut into equal pieces.

Blair's Carmen’s
pie pie

Blair ate 2 pieces of her pie.

a. Write a fraction to show the part of the pie Blair ate.

6
K3

Carmen ate 2 pieces of her pie. Blair said, “Carmen and I ate the same amount
of pie.”

b. Explain why Blair’s statement is or is not correct.

1+ (B CorvecY Decaunse

H\Cy both ave two pieces
of their pie.
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@ Riley shaded squares gray on this grid to make a shape.

]:1 cm

1cm

a. What is the perimeter, in centimeters, of the shape Riley made?

‘ O centimeters

Riley wants to change her shape so that the new shape has a perimeter of
16 centimeters.

b. On the grid above, use your pencil to add shaded squares to Riley’s shape so that
the new shape has a perimeter of 16 centimeters. Be sure to shade the squares.
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@ Riley shaded squares gray on this grid to make a shape.

]:1 cm

—
1cm

a. What is the perimeter, in centimeters, of the shape Riley made?

\O centimeters

Riley wants to change her shape so that the new shape has a perimeter of
16 centimeters.

b. On the grid above, use your pencil to add shaded squares to Riley’s shape so that
the new shape has a perimeter of 16 centimeters. Be sure to shade the squares.
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@ Riley shaded squares gray on this grid to make a shape.

]:1 cm

1cm

a. What is the perimeter, in centimeters, of the shape Riley made?

? centimeters

Riley wants to change her shape so that the new shape has a perimeter of
16 centimeters.

b. On the grid above, use your pencil to add shaded squares to Riley’s shape so that
the new shape has a perimeter of 16 centimeters. Be sure to shade the squares.
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@ Riley shaded squares gray on this grid to make a shape.

]:1 cm

—
1cm

a. What is the perimeter, in centimeters, of the shape Riley made?

¥

centimeters

Riley wants to change her shape so that the new shape has a perimeter of
16 centimeters.

b. On the grid above, use your pencil to add shaded squares to Riley’s shape so that
the new shape has a perimeter of 16 centimeters. Be sure to shade the squares.
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@ Riley shaded squares gray on this grid to make a shape.

]:1 cm

a. What is the perimeter, in centimeters, of the shape Riley made?

—
1cm

\ 4 centimeters

Riley wants to change her shape so that the new shape has a perimeter of
16 centimeters.

b. On the grid above, use your pencil to add shaded squares to Riley’s shape so that
the new shape has a perimeter of 16 centimeters. Be sure to shade the squares.
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@ Mr. Larson is making this chart to show the number of students in each fourth-grade
class at Wilson School.

Fourth-Grade Classes

Class ofNSliwdb:;ts
Mr. Hanson 20
Ms. Polk 21
Mrs. Watson 21
Ms. Yazzie 18

-

Mrs. Lopez OKQ
Mr. Blake ’B\Q

Mrs. Ryan l —I

* There is a total of 137 students in the fourth grade.
* The most common number of students in a class is 20.

Complete the chart to show how many students could be in Mrs. Lopez’s class,
Mr. Blake’s class, and Mrs. Ryan’s class. Show your work or explain how you know.

0
20 g0 W
© TRo
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@ Mr. Larson is making this chart to show the number of students in each fourth-grade
class at Wilson School.

Fourth-Grade Classes

Number

Class of Students
Mr. Hanson 20
Ms. Polk 21
Mrs. Watson 21
Ms. Yazzie 18

Mrs. Lopez %\O
Mr. Blake rs\ 0

Mrs. Ryan ' 7

* There is a total of 137 students in the fourth grade.
* The most common number of students in a class is 20.

Complete the chart to show how many students could be in Mrs. Lopez’s class,
Mr. Blake’s class, and Mrs. Ryan’s class. Show your work or explain how you know.
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@ Mr. Larson is making this chart to show the number of students in each fourth-grade
class at Wilson School.

Fourth-Grade Classes

Class ostlimdb:;ts
Mr. Hanson 20
Ms. Polk 21
Mrs. Watson 21
Ms. Yazzie 18

Mrs. Lopez ZO

Mr. Blake [ '7
Mrs. Ryan ’2__0

* There is a total of 137 students in the fourth grade.
* The most common number of students in a class is 20.

Complete the chart to show how many students could be in Mrs. Lopez’s class,
Mr. Blake’s class, and Mrs. Ryan’s class. Show your work or explain how you know.
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@ Mr. Larson is making this chart to show the number of students in each fourth-grade
class at Wilson School.

Fourth-Grade Classes

Class ofNSliwdb:;ts
Mr. Hanson 20
Ms. Polk 21
Mrs. Watson 21
Ms. Yazzie 18
Mrs. Lopez 20
Mr. Blake 2.0
Mrs. Ryan 2'7

* There is a total of 137 students in the fourth grade.

¢ The most common number of students in a class 1s 20.

Complete the chart to show how many students could be in Mrs. Lopez’s class,
Mr. Blake’s class, and Mrs. Ryan’s class. Show your work or explain how you know.

2042\ =3)
3145 157/
5)»\6/ 10

70+

Qo 29 =

~90

10+27 =137
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@ Mr. Larson is making this chart to show the number of students in each fourth-grade
class at Wilson School.

Fourth-Grade Classes

Class ofNSl;TolI);:ts
Mr. Hanson 20
Ms. Polk 21
Mrs. Watson 21
Ms. Yazzie 18

Mrs. Lopez l O

Mr. Blake ‘ g
Mrs. Ryan ,q

* There is a total of 137 students in the fourth grade.

* The most common number of students in a class 1s 20.

Complete the chart to show how many students could be in Mrs. Lopez’s class,
Mr. Blake’s class, and Mrs. Ryan’s class. Show your work or explain how you know.
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